

	Perry								Assumes I Proje				ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_	_	_	_
Corn	Bushel	All	114.78	\$4.85	\$556.68	\$478.74	\$55.67	\$4.43	108.07	95.50	114.78	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	ψ 1.1 <i>7</i>	-
Corn	Bushel	Nonirrigated	-	-	_	_	_	\$4.43	_	-	_	_	_
Grain Sorghum	Bushel	All	42.13	\$5.01	\$211.07	\$181.52	\$21.11	\$4.40	41.25	36.46	42.13	\$4.31	\$3.81
Oats	Bushel	All	50.00	\$3.38	\$169.00	\$145.34	\$16.90	\$3.52	41.29	36.49	50.00	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	1,943.69	\$0.40	\$769.31	\$661.61	\$76.93	\$0.3509	1,885.44	1,666.23	1,943.69	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	41.82	\$11.12	\$465.04	\$399.93	\$46.50	\$10.65	37.55	33.19	41.82	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	41.67	\$6.21	\$258.77	\$222.54	\$25.88	\$6.00	37.09	32.78	41.67	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Pickens								Assumes I Proje				County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_	_	_	1 - 1
Corn	Bushel	All	180.56	\$4.85	\$875.72	\$753.12	\$87.57	\$4.43	170.00	150.24	180.56	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	_	_	_	-	\$4.43	-	-	_	-	-
Grain Sorghum	Bushel	All	42.67	\$5.01	\$213.78	\$183.85	\$21.38	\$4.40	41.78	36.93	42.67	\$4.31	\$3.81
Oats	Bushel	All	54.00	\$3.38	\$182.52	\$156.97	\$18.25	\$3.52	44.59	39.41	54.00	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,321.18	\$0.40	\$918.72	\$790.10	\$91.87	\$0.3509	2,251.61	1,989.83	2,321.18	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	37.34	\$11.12	\$415.22	\$357.09	\$41.52	\$10.65	33.53	29.63	37.34	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	51.33	\$6.21	\$318.76	\$274.13	\$31.88	\$6.00	45.69	40.38	51.33	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Pike								Assumes I Proje				County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	-	_	_	_	_	\$0.1996	_	_	_	_	_
Corn	Bushel	All	_	_	_	_	_	\$4.43	_	_	_	_	-
Corn	Bushel	Irrigated	218.91	\$4.85	\$1,061.71	\$913.07	\$106.17	\$4.43	206.11	182.14	218.91	\$4.17	\$3.69
Corn	Bushel	Nonirrigated	110.76	\$4.85	\$537.19	\$461.98	\$53.72	\$4.43	104.28	92.16	110.76	\$4.17	\$3.69
Grain Sorghum	Bushel	All	43.00	\$5.01	\$215.43	\$185.27	\$21.54	\$4.40	42.10	37.21	43.00	\$4.31	\$3.81
Oats	Bushel	All	51.27	\$3.38	\$173.29	\$149.03	\$17.33	\$3.52	42.34	37.41	51.27	\$2.91	\$2.57
Peanuts	Pound	All	3,014.27	\$0.27	\$806.32	\$693.44	\$80.63	\$0.2535	2,735.42	2,417.40	3,014.27	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	1,693.73	\$0.40	\$670.38	\$576.53	\$67.04	\$0.3509	1,642.98	1,451.95	1,693.73	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	38.00	\$11.12	\$422.56	\$363.40	\$42.26	\$10.65	34.12	30.15	38.00	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	i - I
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	i - L
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	i - I
Wheat	Bushel	All	37.90	\$6.21	\$235.36	\$202.41	\$23.54	\$6.00	33.73	29.81	37.90	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	i - I
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



F	tandolph								Assumes I Proje	ction		Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	-	_	_	_
Canola	Pound	All	_	-	-	_	-	\$0.1996	_	-	-	-	_
Corn	Bushel	All	101.03	\$4.85	\$490.00	\$421.40	\$49.00	\$4.43	95.12	84.06	101.03	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-		-	\$4.43	-	-	-	· -	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	44.60	\$5.01	\$223.45	\$192.17	\$22.35	\$4.40	43.67	38.60	44.60	\$4.31	\$3.81
Oats	Bushel	All	52.73	\$3.38	\$178.23	\$153.28	\$17.82	\$3.52	43.54	38.48	52.73	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	39.58	\$11.12	\$440.13	\$378.51	\$44.01	\$10.65	35.54	31.41	39.58	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	66.77	\$6.21	\$414.64	\$356.59	\$41.46	\$6.00	59.43	52.52	66.77	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Russell								Assumes I Proje	ction		Assu	County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yie Assumptio 2/	Pavment	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	-	_	_	_	_	\$6.44	_	-	_	_	-
Canola	Pound	All	-	-	_	_	-	\$0.1996	_	-	_	_	_
Corn	Bushel	All	114.49	\$4.85	\$555.28	\$477.54	\$55.53	\$4.43	107.79	95.26	114.49	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	42.87	\$5.01	\$214.78	\$184.71	\$21.48	\$4.40	41.98	37.10	42.87	\$4.31	\$3.81
Oats	Bushel	All	53.73	\$3.38	\$181.61	\$156.18	\$18.16	\$3.52	44.37	39.21	53.73	\$2.91	\$2.57
Peanuts	Pound	All	3,722.43	\$0.27	\$995.75	\$856.35	\$99.58	\$0.2535	3,378.07	2,985.29	3,722.43	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	1,980.36	\$0.40	\$783.83	\$674.09	\$78.38	\$0.3509	1,921.00	1,697.66	1,980.36	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	34.21	\$11.12	\$380.42	\$327.16	\$38.04	\$10.65	30.72	27.15	34.21	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	57.33	\$6.21	\$356.02	\$306.18	\$35.60	\$6.00	51.03	45.10	57.33	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Shelby								Assumes I Proje	ction		Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	-	_	_	_
Canola	Pound	All	_	-	-	_	-	\$0.1996	-	-	-	-	_
Corn	Bushel	All	131.39	\$4.85	\$637.24	\$548.03	\$63.72	\$4.43	123.71	109.33	131.39	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	, -	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	-	-	-	-	-	\$4.40	-	-	-	-	-
Oats	Bushel	All	-	-	-	-	-	\$3.52	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	1,983.79	\$0.40	\$785.18	\$675.25	\$78.52	\$0.3509	1,924.31	1,700.57	1,983.79	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	44.17	\$11.12	\$491.17	\$422.41	\$49.12	\$10.65	39.66	35.05	44.17	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	50.97	\$6.21	\$316.52	\$272.21	\$31.65	\$6.00	45.37	40.09	50.97	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



	Sumter								Assumes I Proje	ction		Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	-	\$6.44	_	-	_	-	_
Canola	Pound	All	_	-	-	_	_	\$0.1996	-	_	_	_	_
Corn	Bushel	All	137.51	\$4.85	\$666.92	\$573.55	\$66.69	\$4.43	129.47	114.42	137.51	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	-	_	_	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	42.07	\$5.01	\$210.77	\$181.26	\$21.08	\$4.40	41.19	36.40	42.07	\$4.31	\$3.81
Oats	Bushel	All	48.33	\$3.38	\$163.36	\$140.49	\$16.34	\$3.52	39.91	35.27	48.33	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	38.82	\$11.12	\$431.68	\$371.24	\$43.17	\$10.65	34.86	30.80	38.82	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	50.53	\$6.21	\$313.79	\$269.86	\$31.38	\$6.00	44.98	39.75	50.53	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



Т	alladega								Assumes I Proje	ction		Assur	County Yield mption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	-	_
Canola	Pound	All	_	-	-	_	-	\$0.1996	_	-	-	-	-
Corn	Bushel	All	_	-	-	_	-	\$4.43	_	-	-	-	_
Corn	Bushel	Irrigated	222.74	\$4.85	\$1,080.29	\$929.05	\$108.03	\$4.43	209.72	185.33	222.74	\$4.17	\$3.69
Corn	Bushel	Nonirrigated	176.29	\$4.85	\$855.01	\$735.31	\$85.50	\$4.43	165.98	146.68	176.29	\$4.17	\$3.69
Grain Sorghum	Bushel	All	45.00	\$5.01	\$225.45	\$193.89	\$22.55	\$4.40	44.06	38.94	45.00	\$4.31	\$3.81
Oats	Bushel	All	58.00	\$3.38	\$196.04	\$168.59	\$19.60	\$3.52	47.89	42.33	58.00	\$2.91	\$2.57
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,397.17	\$0.40	\$948.80	\$815.97	\$94.88	\$0.3509	2,325.33	2,054.97	2,397.17	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Irrigated	57.52	\$11.12	\$639.62	\$550.07	\$63.96	\$10.65	51.65	45.64	57.52	\$9.56	\$8.45
Soybeans	Bushel	Nonirrigated	39.12	\$11.12	\$435.01	\$374.11	\$43.50	\$10.65	35.13	31.04	39.12	\$9.56	\$8.45
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	67.41	\$6.21	\$418.62	\$360.01	\$41.86	\$6.00	60.00	53.03	67.41	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	i -
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



To	uscaloosa								Assumes I Proje	ction		Assur	ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	-	_	_	_
Canola	Pound	All	_	_	_	_	-	\$0.1996	_	-	-	-	_
Corn	Bushel	All	154.57	\$4.85	\$749.66	\$644.71	\$74.97	\$4.43	145.53	128.61	154.57	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	· -	-
Corn	Bushel	Nonirrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Grain Sorghum	Bushel	All	43.67	\$5.01	\$218.79	\$188.16	\$21.88	\$4.40	42.76	37.79	43.67	\$4.31	\$3.81
Oats	Bushel	All	-	-	-	-	-	\$3.52	-	-	-	-	-
Peanuts	Pound	All	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	2,030.54	\$0.40	\$803.69	\$691.17	\$80.37	\$0.3509	1,969.68	1,740.67	2,030.54	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	41.98	\$11.12	\$466.82	\$401.47	\$46.68	\$10.65	37.70	33.31	41.98	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	60.33	\$6.21	\$374.65	\$322.20	\$37.47	\$6.00	53.70	47.46	60.33	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields



w	ashington								Assumes I Proje				ounty Yield nption
Crop Name	Unit	ARC-CO Yield Designation	2024 Benchmark Yield (2018-22 olympic avg)	2024 Benchmark Price (2018-22 olympic avg)	2024 Benchmark Revenue per Acre	2024 Revenue Guarantee per Acre	2024 Maximum Payment Rate per Acre	2024/25 MYA Price Projections	County Yield for Min Payment Rate per Acre 1/	County Yield for Max Payment Rate per Acre 1/	2024-25 County Yield Assumption 2/	MYA Price for Min Payment Rate per Acre 1/	MYA Price for Max Payment Rate per Acre 1/
Barley	Bushel	All	_	_	_	_	_	\$6.44	_	_	_	_	_
Canola	Pound	All	_	_	_	_	_	\$0.1996	_	_	_	_	_
Corn	Bushel	All	156.82	\$4.85	\$760.58	\$654.10	\$76.06	\$4.43	147.65	130.48	156.82	\$4.17	\$3.69
Corn	Bushel	Irrigated	-	-	-	-	-	\$4.43	-	-	-	-	-
Corn	Bushel	Nonirrigated	-	_	_	-	-	\$4.43	-	-	-	_	-
Grain Sorghum	Bushel	All	-	-	-	-	-	\$4.40	-	-	-	-	-
Oats	Bushel	All	49.87	\$3.38	\$168.56	\$144.96	\$16.86	\$3.52	41.18	36.39	49.87	\$2.91	\$2.57
Peanuts	Pound	All	3,754.50	\$0.27	\$1,004.33	\$863.72	\$100.43	\$0.2535	3,407.14	3,011.01	3,754.50	\$0.23	\$0.20
Peanuts	Pound	Irrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Peanuts	Pound	Nonirrigated	-	-	-	-	-	\$0.2535	-	-	-	-	-
Seed Cotton	Pound	All	1,779.17	\$0.40	\$704.20	\$605.61	\$70.42	\$0.3509	1,725.85	1,525.19	1,779.17	\$0.34	\$0.30
Seed Cotton	Pound	Irrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Seed Cotton	Pound	Nonirrigated	-	-	-	-	-	\$0.3509	-	-	-	-	-
Soybeans	Bushel	All	40.92	\$11.12	\$455.03	\$391.33	\$45.50	\$10.65	36.74	32.47	40.92	\$9.56	\$8.45
Soybeans	Bushel	Irrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Soybeans	Bushel	Nonirrigated	-	-	-	-	-	\$10.65	-	-	-	-	-
Sunflower Seed	Pound	All	-	-	-	-	-	\$0.2081	-	-	-	-	-
Wheat	Bushel	All	60.67	\$6.21	\$376.76	\$324.01	\$37.68	\$6.00	54.00	47.72	60.67	\$5.34	\$4.72
Wheat	Bushel	Irrigated	-	-	-	-	-	\$6.00	-	-	-	-	-
Wheat	Bushel	Nonirrigated	-	-	-	-	-	\$6.00	-	-	-	-	-

⁻ represents no base acres for that commodity/designation in the county

^{1/} Authors calculations

^{2/} County Yield Assumptions are the olympic average of the 2018-2022 county yields